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(A) ipconfig (B) ifconfig

(C) netconfig (D) nslookup
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(A) # # 3 P &(temporary)

(B) # 7 %4 &% X087 12 tu3% 430 (7 Rl3 40
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(A) de e ot enz i (B)ﬁﬁiiﬁma%%w
(C) w3 FH (D) ic= 2% FHRDELA T
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(A) Variety ( % #1) (B) Velocity (i &)

(C) Visualization ( # 481t ) (D) Volume (#& )



( A) Rootkit (B) R 3dict
(C) &5 fz5¢ (D) cookie
6. A hsd o Tl K A AT A E L 25 g
* 7
(A) 10000101 (B) 00000101
(C) 11111010 (D) 11111011

T. TG g EIRiE R T
Int x=4; a=--X; b=++x; printf("%d %d",a, b);

(A) 34 (B) 44
(C) 33 (D) 45
8. THVREF AL E e ENET
(A)C (B) Ruby
(C) JAVA (D) Smalltalk

9. % = d&7|(Fibonacci numbers) % &4 : F(0)=0, F(1)=1, F(i) = F(i-I)
+ F(i-2) fori >1 > 3 F(10) 3

(A) 55 (B) 21
(C) 89 (D) 144

10, g2 B T AR B G BAY KT - B 4 hiak
(A) Program Counter (B) Instruction Register

(C) Memory Address Register (D) Memory Data Register

11, ™ 5)oR— i R Bif & % k4 57 1 & 3 (Hierarchical) B etk 5545
(A) Hash (B) Stack
(C) Queue (D) Tree
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12. 3% >0z & % CIA ¢ % 2 (Confidentiality) ~ = A {2 (Integrity)
2w # P (Availability) o 3-A > "B 2 4 BT £ F B TR
(A) 18 iz (B) =
(C) & * 2 (D) 1} %zt

13. Which logic gate can be implemented by the following circuit?

Db g Db

(A) AND (B) OR
(C) XOR (D) None of above
14. is a set of instructions in a computer language that tells the
computer what to do with data.
(A) hardware (B) an operation system
(C) adata processor (D) aprogram

15. Two programming languages specifically designed for Al are:
(A) Cand C++ (B) Java and C++
(C) LISPand PROLOG (D) FORTRAN and COBOL
16. $+>* VoIP st ™ 7| 4 5 £ 7
(A) vR* ' mfogEiEdm (B) vig? 2X5mT B Likpi
(C) Skype € - #& VoIP #ic# (D) m by &

Jml.

17.T3'Jfaﬁ{/%@/ff!l$jl\ itz — o f T A e ant ke iF D
(A) 418 ~ (B) 4 ¥ ~
(C) BRyH ~ (D) k¥ ~
18. RiFZH L * &7
(A) HE &~ (B) #F % &~
(C) g4z » (D) OCR
19. T 7 i RIGATE SR RD F BT W P 2
(A) TCP/IP ( B) Bluetooth
(C) IrDA (D) RFID
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(A) SeiF b iz (B) =4

(C) ¥4k (D) v % £4K
C REAPEE (£404)

B3k F e i F(W, X, Y, 2)=2m(0,2,5,7,8,10,13,15) » 31 * + [ 4
S Heff 1+ o (8%)

AT e dieet e 2 NP L B B P 1 (E @ 1 (passed by value)
fe s = ut 1@ vE (passed by address)s % £ - (8%)
Given an unsorted-array A of n distinct numbers and an integer k, where
1<k<n, design a worst case linear time algorithm to find the k-th largest
number in A (8%)

Floating point representation (8%)

i) Convert (24.875),0 in 32-bit IEEE format. (3 16 i& =4 71)

| S | Exponent | Mantissa |

S: 1bit (sign bit)
Exponent: 8 bits (Excess _127)
Mantissa: 23 bits (The mantissa is always 1.xxx... in the normalized

form, no need to represent the leading 1)
i) Decode (4381C000)16 using the 32-bit IEEE format. ( Frfz 4 2 #7
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